Jara: 08.02.2022
I'pyma Nel5
Ypoxk: Ne29-30

Tema ypoky: «Air Pollution. Present Perfect Continuous.
Past Perfect Continuous.»

MeTta ypoKy: 03HAHOMHUTH yYHIB 3 HOBOIO JIEKCUKOIO TeMH. BunTu HOB1 4acoBi hopmu
J€CIIOBA Ta TPEHYBATHUCS BXKUBATH 1X Ha mUchbMi. DOopMyBaTH HABUUKH YUTAHHS, TIEPEKIATY,
YCHOT'O MOBJICHHS Ta TTHUChMA.

Marepiaiu ypoky:

1 Basic vocabulary
Use these words to complete the sentences:

waste pollution
protect factory
recycled emissions
damage environmentalists
1. During the last hundred years we have done
FREAE o cironivn to the environment.
2. There’s a large chemical . . ... ... in our

town which has polluted the river twice in
the last year.

3. The Government is very worried about the
........ of our rivers and beaches.

4, A lot of household . . ...... like bottles and
newspaperscanbe........ and used again.
W o e e are furious with the American

Government for delaying measures which will
reduce greenhouse gas . . . . ....

6. There are lots of things we can all do to
........ the environment.



Match a word on the left with a word on the right
to make common expressions:

1. global a. rain

2. greenhouse b. warming
3. ozone c. effect

4. acid d. layer

Now use the phrases in the following sentences:

5. The gradual rise in the Earth’s temperature is
RO 8 s vas i :

6. When heat gets trapped in the Earth’s
atmosphere, it is knownasthe . . . ... ....

.........

.......... , particularly over Antarctica.
8. Rain mixed with toxic chemicals from
factories is knowmn as . . o oo evsvsvssnan :

3.03HaiioMTecs 3 rpaMAaTHYHUM MaTepPiajioM Ta 3aKOHCIEKTYHTe.

A)  Present Perfect Continuous (TemepiinHiii JoKOHAHO-TPHBAJIMI Yac)
BUKOPHUCTOBYETHCA JUIsl BUPAKEHHsI Jil, 1110 Mo4Yajiacs B IEBHUI MOMEHT Y MUHYJIOMY Ta
TPUBaJIa 10 TeNepPillIHbOr0 MOMEHTY a0o0 X JI0C1 TPUBAE y TEMEPIIIHbOMY Yaci. SIKio ais
3aBepUINIIacs, TO 1i pe3yJabTaTH MOKHA MOOAYUTH y TeTEePIIHbOMY 4aci. Ls koHCcTpyKiis
CTaBUTh HAroJIOC CaMe Ha TPUBAJICTH [I1i 1 BIAMOBIIa€ HA MUTAHHS «SIK JOBrO B1I0OyBa€ThCA
sa?»

I’ve been standing here for two hours. — I npocmosina mym npomscom 0sox 2ooun. (i st 6ce
we cmoro mym) / A mym 6dxce cmorw npomscom 080X 200UH.

She’s been running for an hour, she feels tired. — Boua 6iena npomsecom coounu, sona
nouysac cebe 6MoMAeHO. (Mpusaia dis 3aeepuiena, ii pe3yiomam i04ymuuil 8
menepiunboMy 4aci)

We’ve been writing this report all morning, I’m very hungry now. — Mu nucanu yeti 36im
8ecb paHox, menep s 0yJice 320100HIIA.

Present Perfect Continuous BUKOpHCTOBYETHCH 3 MEBHUMH CJIOBAaMHU Ta ()pazamMu, 110
BKa3yITh HAa TPHUBAJICTB il 200 K HA MOMEHT 4acy, B AKHil I04aJ1aCh IIeBHA TPUBaJIa
ifl.

since 10 o’clock — 3 decamoi zoounu

since yesterday — nouunarouu 3 euopa

since last month — 3 munynozo micaus

since 1991 — 3 1991 poky

since... (action in past simple) — 3..., 3 mozo uacy, sak... (0in, supasxcena 6 past simple)
all day (long) — eecs oenw

all morning / the whole morning — eeco panox



all evening / the whole evening — secs geuip

all night long — ecro niu

for half an hour - 3 niecoounu, npomszom niezoounu
for 2 hours — npomszom 0seox zooun

for 3 days — npomszom mpweox onie

lately — ocmannim uacom

recently — newooasno

b) Past Perfect Continuous (MuHYJIHIi JOKOHAHO-TPHBAJIHIA Yac)
BUKOPHUCTOBYETHCS sl TOTO, 100 MIAKPECIUTH caMe TPUBAJIICTh NMEeBHOI i, 110
noyvaJjacs, TpUBAJIA Ta 3aBePIIWIACH 0 IEBHOI0 MOMEHTY a00 5K iHIIOI il y
MHUHYJ0MY. Pe3ynbTaT Takoi TpuBaioi 1ii Takox OyB BITYYTHHN B MUHYJIOMY.

She had been running for two hours before she saw a village. — Bora 6iena npomsicom 06ox
20014H, NOKU He nobayuuia sKkecs ceo.

John had been speaking all morning, so he lost his voice. — /[oicon pozmosnss éeco parox,
max wo empamus 2onoc. (ITpusana 0ia 8i00y8aniacy 8 MUHYIOMY. Ii pes3yabmam makoic
3'asuecs 6 munynomy. [con empamue 20.10c)

They had been sitting here since last evening before they bought the tickets. — Bonu cuodinu
mym 3 nonepe@uboeo eevyopa, NOKU He Kynuiu Keumku.

3 wacom Past Perfect Continuous BUKopuCcTOBYIOTHCSI TI€BHI CJ10Ba Ta BUPa3H, 110
BKa3yKOTh Ha Te, 10 Jifl Mo4YaJjacs, TPUBAJIAa NeBHUII MPOMIKOK Yacy Ta 3aBepuIniacs
y MHHYJIOMY 200 /10 iHII0i il Y MUHYJIOMY 4Yaci.

before — 0o

till — 00 (30edinvuozo ¢ 3anepeunux peuennsax)
untill — 0o (30edinvuozo ¢ 3anepeunux peuennsax)
for an hour — npomszom zoounu

for 5 hours — npomszom n'smu zooun

for a day — npomsazom ons

for a week — npomszom muosicns

for a month — npomszom micaus

all morning / the whole morning — eeco panox
all day (long) / the whole day — éecs dens

all week / the whole week — eeco muosicoens

all month / the whole month — gecs micauys

all year (round) — gecw pik

since 5 o’clock — 3 5-i coounu

since last week — 3 munynozo musicns

since last month — 3 munynozo micaus

since 1991 — 3 1991 poky

since last century — 3 munynozo cmopiuus



J1/3: 1 BuBYMTH cJ10Ba Ta pa3u ypoOKy Hanam’siTh!

B mAAN AN T AL AFIIElAwAALS

2 What causes the damage
Use these words to complete the sentences:

exhaust fumes toxic waste
emissions deforestation
pesticides crops

1. The Government is introducing strict new
rules on the dumping of . . .. .. S by
industry.

2. Farmers contribute to environmental damage
by spraying . ....... NG o cncine o s m
which stay in the soil for years.

. R— S — from factories in northern

Germany affect the environment in large
parts of Scandinavia.

4. Tropical rainforests have always helped to
keep the environment in balance but recent
............ means they no longer absorb
as much carbon dioxide as they used to.

o A e from cars and other vehicles cause
a great deal of damage ro the environment.

Which verbs cannot be used with environment?

damage, harm, injure, destroy, hurt, pollute

Use these words to complete the text:

floods radiation  sea level climate
deserts  ice caps oceans gases

Scientists have shown that the temperature on
Earth is increasing by 0.1° every ten years.
That’s one degree every century. The (1) ......
that are produced by factories and cars are
allowing more (2) ........ from the sun to
reach Earth. In the future this will have very
serious consequences for humanity.

As the Earth gets hotter, the Arcric and
AATCHE B) o wwmwnmian o will slowly melt
and the level of the (4) ... ... .. will rise. A
recent report says thatthe (§) .. ...........
will rise by 70 metres over the next hundred
years; causing (6) « - .« .. .. in many low-lying
parts of the world.

There will BE (7] «oosmamee changes, too.
Some areas will become wetter while others will
become much drier. Some areas which today are
green and fertile will eventually turn into

BB s v ame . Tropical diseases like malaria
will become common in areas where today they
are unknown.



Koncnexktun maacmiaarm: Poccoxa H.M- nataross2017@gmail.com

Kapnax E.B.- emiliya.karnakh@gmail.com

VYBara!! 3aBaanHsi ypoKy BUKOHY€EMO i BIANIPABJISIEMO MPOTIATOM OHOIO THA 3
MOMEHTY BHCBITJICHHSI KOHCIIEKTY HA cailTi !

Y4Hi, KOTPi He HAACWIAKTH CBOI po00TH B3araJi - OyayTs H/a !!!
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